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Beziehung HellheitB* 1 und Leuchtdichte L als Funktion

von Normfarbwert Yt fur Adaptationsleuchtdichte L;=40 cd/m?

B1r(L La ) = Cr(O)LT ~BalLa 6) Hellheit BY;  [1]
Ba(La ) = Cr(9)[So(9) + Su(@)La] (n=0,31) [2]
Lie(La 0) = [So(d) + Sa(@)LT " (t=Schwarzschwelle) [3}
Lt ¢ Crd) So@) Sud) BalLad) By Lie  Lalkt
40  120' 22,969 0,0718 0,2448 19,29 5277 056 7
40 100' 23,128 0,0747 0,2494 19,29 5274 0,60 64
40 90 23415 0,1086 0,2526 19,29 52,36 0,71 5
40 60" 23,973 0,1313 0,2657 19,29 52,08 0,89 44
40 30 26,235 0,1797 0,3188 19,29 51,35 1,70 23
40 20" 27,971 0,2013 0,3555 19,29 50,93 2,43 1
40 10 30,747 02730 0,3984 19,29 4964 3,88 10
40  120° 22,969 0,0718 02448 19,29 5277 056 7

Bir(L1, La ) = S(O)LT — dkalLas ) Hellheit B [1]
Ba(La $) = Cr () [So(®) + Su()Lal (n=0,31) [2]
S(9)=Cr (@) [B]  dea(®) =Balla ) [4] (s=Skalierfaktor)

Lt ¢ Cr(®) So®) Su@) Balla®) Biy  sd(9) dxa(¢)
40 120' 22,969 0,0718 0,2448 19,29 52,77 22,96

40 100" 23,128 0,0747 0,2494 19,29 52,74 2312 1
40 90 23415 0,1086 02526 19,29 5236 2341 21|
40 60" 23973 0,313 02657 19,29 52,08 23,97 23
40 30" 26235 0,1797 0,3188 19,29 51,35 26,23 3
40 200 27971 0,2013 0,3555 19,29 5093 27,97 3§
40 10 30,747 0,2730 0,3984 19,29 49,64 30,74 44
40 120° 22,969 0,0718 0,2448 19,29 52,77 22,96 1

hgs51-1a =2, L;=300,L ;=40,$=120, B;=19,29 B, ;=52,77

Ngs51-2a =2, L,=300,L =40, =120, B;~19,20,8%,;=52,77,5=22,96,0xa=19,20
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[1]
Bira) 2

BYr(Lt, L Lr, §) = [CT(¢)|—T Bi(Lr, 9)]Bta Hellheit BY

Br(Lr, 9) = CT(¢)[SO(¢)+51(¢1)/L] (n=0,31,B%5=B 1

[1]
By [2

B 1 (LT, Ly, 9) = Sra($) I—T dyra() Hellheit BY, 1
By(Lr, §) = Cr($)[So($) + S(§)L7] (n=0,31,B%,=B}

LT,r

Lye(La §) = [So(®) + Su@)Lr] (t=Schwarzschwelle) [3}| syra(®)=Cr($)B%a [3] dyra(®)=Br(Lr, $)B%a [4] (s=Skalierfaktor)
Yoo 0 Cr9) S@)  Sue) Br('—r:¢) Byr Lyt LdleffYr ¢ Cr(@) S®)  Si(9) Br(Lrd) By Syra(d) dyra(¢)
40  120° 22,969 0,0718 0,2448 34,60 70,99 1,07 7Q|40 120" 22,969 0,0718 0,2448 34,60 70 99 4351

40 100" 23,128 0,0747 0,2494 34,60 70,17 1,15 6340 100" 23,128 0,0747 0,2494 34,60 70,17 43,81 3'
40 90" 23,415 0,1086 0,2526 34,60 68,70 1,35 54/40 90" 23,415 0,1086 0,2526 34,60 68,70 44,36 39
40 60" 23,973 0,1313 0,2657 34,60 6581 1,69 4440 60" 23973 0,1313 0,2657 34,60 6581 4542 43,
40 30" 26,235 0,1797 0,3188 34,60 54,15 3,23 23|40 30" 26,235 0,1797 0,3188 34,60 54,15 49,70 59
40 200 27,971 0,2013 0,3555 34,60 4519 4,60 1440 20" 27,971 0,2013 0,3555 34,60 4519 52,99 69
40 10" 30,747 0,2730 0,3984 34,60 30,87 7,36 1(¢|40 10' 30,747 0,2730 0,3984 34,60 30,87 58,25 84
40 120" 22,969 0,0718 0,2448 34,60 70,99 1,07 70|40 120" 22,969 0,0718 0,2448 34,60 70,99 4351 3
hgs51-3a_J=2, L=300,5=40,0=120 B,=34,6084,=70,09 Rgss1-4a_j=2, L=300,Lo=40,$=120", B=34,60,84 =70,99,5,2-43 51 0y:o=36,55
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